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1) [Alexander and Sadiku, 2009, Q4.27] Apply source transformation to find vx in the circuit of

Figure 1.
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2) [Alexander and Sadiku, 2009, Q4.22] For the circuit in Figure 2, use source transformation to
find i.

AWV

INE)) §SQ §4Q 20V

Figure 2



ECS203 2015 HW6 Name: ID:

3) [Alexander and Sadiku, 2009, Q4.33] Determine Rth and V1, at terminals 1-2 of each of the
circuits of Figure 3.
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4) [Alexander and Sadiku, 2009, Q4.39] Obtain the Thevenin equivalent at terminals a-b of the
circuit in Figure 4.
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5) [Alexander and Sadiku, 2009, Q4.45] Find the Norton equivalent of the circuit in Figure 5.
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6) [Alexander and Sadiku, 2009, Q4.56] Use Norton’s theorem to find V, in the circuit of Figure
6.
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7) [Alexander and Sadiku, 2009, Q4.66] Find the maximum power that can be delivered to the
resistor R in the circuit of Figure 7.
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